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1.  What are the levels of data abstraction?
(a) Physical level (b) Logical level (c) Interface level (d) View level

2. Which of the following is a problem of file management system?
(a) lack of data independence (b) data redundancy (c) program dependence
(d) difficult to update

3. Which of the following IS NOT the feature of a DBMS?
(a) query language (b) data dictionary (c) data warehouse  (d) utilities

4. Database management systems are intended to
(a) eliminate data redundancy  (b) support decision making (c) manage file
access (d) maintain data integrity

5. Which of the following is a file access method?
(a) Indexed sequential access method (b) random access method (c) direct
access method  (d) binary access method

6. Inthe DBMS approach, application programs perform the
(a) storage function (b) processing functions  (c) access control (d) all of
the above

7. Which of the following is the issue for a database without normalization?
(a) multivalued dependency (b) relationship dependency (c) functional
dependency  (d) attribute dependency
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8. Which of the following statement is true?
(a) in an indexed field you may or may not enter duplicate value (b) you can
enter duplicate value in primary key field (c) foreign key fields don't allow
duplicate values  (d) all statements are true
9. Inarelational database, each column
(a) has a primary key (b) has a unique name and each row has a primary key
(c) has a unique name (d) has a primary key
10. Entity-relationship diagramisused in
(a) data mining  (b) system design  (c) relational database
(d) database design
11. What are the advantages of recursive programming?
(a) easy to design (b) easy to write (c) easy to analyze its complexity
(d) having better performance
12. What are the main features of object-oriented programming?
(a) weak typing (b) event-driven programming (c) encapsulation (d) inheritance
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7. Consider the universal relation R = {A, B, C, D, E, F, G, H, I, J} and the set of
functional dependencies F = {{A, B} = {C}, {A} >{D, E}, {B} = {F}, {F} 2 {G
H}, {D} = {lI, J}}.

1. What is the key for R? (2%)

2. Decompose R into 2NF, then 3NF relations. (3%)



